

$$(30) \left\{ \frac{e}{s} \right\} [(s)] = s + \dots + \dots + \dots$$

$$\left\{ \frac{e}{s} \right\} [(s)] = \dots + \dots + \dots$$

$$\left\{ \frac{e}{s} \right\} [(s)] = \dots + \dots + \dots$$

92449057

193

1 / علاء فكري

فني الرياضيات

سلسلة الفكر

$$(31) \left\{ \frac{1}{s} \right\} = s + \dots + \dots + \dots = \dots$$

$$\left\{ \frac{1}{s} \right\} = \dots + \dots + \dots + \dots$$

$$(32) \text{ إذا كان } \left\{ \frac{1}{s} \right\} = s + \dots + \dots + \dots = \dots$$

$$\text{فإن } \left\{ \frac{1}{s} \right\} = s + \dots + \dots + \dots = \dots$$

$$\left\{ \frac{1}{s} \right\} = \dots + \dots + \dots + \dots$$

$$(33) \text{ إذا كان } \left\{ \frac{1}{s} \right\} = s + \dots + \dots + \dots = \dots$$

$$\left\{ \frac{1}{s} \right\} = \dots + \dots + \dots + \dots$$

$$\left\{ \frac{1}{s} \right\} = \dots + \dots + \dots + \dots$$

$$(34) \text{ إذا كان } \left\{ \frac{1}{s} \right\} = s + \dots + \dots + \dots = \dots$$

$$\left\{ \frac{1}{s} \right\} = \dots + \dots + \dots + \dots$$

$$(35) \text{ إذا كان } \left\{ \frac{1}{s} \right\} = s + \dots + \dots + \dots = \dots$$

$$\left\{ \frac{1}{s} \right\} = \dots + \dots + \dots + \dots$$

$$\left\{ \frac{1}{s} \right\} = \dots + \dots + \dots + \dots$$

92449057

194

1 / علاء فكري

فني الرياضيات

سلسلة الفكر

$$(36) \text{ إذا كان } \left\{ \frac{1}{s} \right\} = s + \dots + \dots + \dots = \dots$$

$$\left\{ \frac{1}{s} \right\} = \dots + \dots + \dots + \dots$$

$$(37) \text{ إذا كان } \left\{ \frac{1}{s} \right\} = s + \dots + \dots + \dots = \dots$$

$$\text{فإن } a + b \text{ يمكن أن تساوي } \dots$$

$$\left\{ \frac{1}{s} \right\} = \dots + \dots + \dots + \dots$$

$$(38) \text{ إذا كانت } \left\{ \frac{1}{s} \right\} = s + \dots + \dots + \dots = \dots$$

$$\left\{ \frac{1}{s} \right\} = \dots + \dots + \dots + \dots$$

$$(39) \text{ إذا كان } \left\{ \frac{1}{s} \right\} = s + \dots + \dots + \dots = \dots$$

$$\left\{ \frac{1}{s} \right\} = \dots + \dots + \dots + \dots$$

$$(40) \text{ إذا كان } \left\{ \frac{1}{s} \right\} = s + \dots + \dots + \dots = \dots$$

$$\left\{ \frac{1}{s} \right\} = \dots + \dots + \dots + \dots$$

$$\left\{ \frac{1}{s} \right\} = \dots + \dots + \dots + \dots$$

LIVEWORKSHEETS